IERI0EE HRITZESXEE

R % B H & & £% (M)
Bl | 48218 |([HERFEPTAFEDSAHL-ER 3,580
T | 4H248 |MBREERELAZERFRABEAET HLTER 1,730

4AnEE 5,310
R % BH & & £% (M)
Z0fth | 5188 |BEHREWHE FLER 1,060
%L | 5248 |HBREEI-BAIREHEGAERSBHRRE 6,000
B | 5A248 |HBRNEIR-BLREMASEERS~ELER 2,632
B | 5A268 |HBERENMERESEA—TJTARIIMIES~AELIZER 3,580

5An&E 13,272
X % BH & & £% (M)
B | 6A18E |BRABLEBESERISBE~MLEZER 2,685
B 6H268 |JARFILBEBERKSAMLEZER 2,632
B | 6298 |HMHEERETESR~NMLIZER 2,685

6 AN aEt 8,002
X % BH & & £% (M)
B 7TA1H |BEEEE-ZHEEK EEEE (ATRES A~ LSEREED) 20,630
Z0fth | 7TRA17H |EEREHHE SLER 5,100
B | 7A218 |AEYDRIEHDEWNINELI-SRAHK 2,932
B 78248 |ETEEEEIREEERN RILIEREMBEAHLZER 3,510
B 7A278 |MEZAVHERIE E2K[LOAHLEER 27,000

7R7EE 59,172
X % BH & & &% (M)
B | 8A25H |HMHMERERYUAHLIZER 3,300

8HX &G 3,300
X % BH & & &% (M)
B 9A9H |HTHNERWER (6REHS) 20,730
B | 9A11B |HBEEREK AERICHLLER 3,510
B | 9A168 |HRZE EH~HLER 2,685

9AmEE 26,925
X % BH & & £% (M)
Zhfth | 10888 |ZERFAELLER 5,200
&% | 10A268 |[BAISXMHHNERERIASE (2457) 6,000
B# | 10278 [#HBMETH6OEERRSXBIHE 5,000

10A72&5F 16,200




X % AR z = £%8 (M)
THiL

1MAR&E 0
R AH " P 4% (M)
BEHR 12868 |IHMEEREMERINELIER 4475
BEHR 12A88 |[TJARFIL24FEDHHIZEBITHE INELIER 4475
B | 128128 |#EVYDRIVIRAIRATES INMELI=E8R& 3,036
B | 128138 |HILAMETEES~HLEAER 2,632
12B &5 14618
R AH " = £%5 (M)
E4L 1188 |BISEEH-TUHERXASE(LSY) 3,000
1An&Et 3,000
R AH " = 4% (M)
B 28108 [ERMFRAHLEER 2,625
B 28148 |HERETER 5,400
2B » &5t 8,025
X % AH " P £%8 (M)
B 3A1E |EREZEEFES~HLI-ER 3,580
BB 3A13H |HEREEMES~AELIABR 2,685
B 3H238 |[BAKkMmEERERALER 2,685
3HA & 8,950
FHIOFEEE 166,774

THIOEE HRAHS AR
B H A = + %8 (M)
AA5H |EZESEXERTESLIAEFILEOERXRBRSE (—EAH) 33,390
48108 |ZSLHBREZESRBHRELT 6,300
ARAREET 39,690
B H A = + %8 (M)
5108 |&#A (R4 ba—E—ILIK 2,434
5N &&t 2,434
I & 28 (M)

6H XH7%EL




BHH ) = 2% (M)
78 XHEL

AR ) = 2% (M)
8H XH#AL

EIE &) = 2% ([)
98 XH#LL

EIE &) = 2% (H)

10128 |SBEMNESERSBHSE (—HEAHE) 27,000

10A9&E 27,000

EIE ) = 2% (H)
118 X4l

BHH ) = 2% (0)

128178 | EZRSLOERXBRESE (—EE18) 29,850

128988 29850

BHH ) = 2% (M)
18 XZHEL

BHH ) = 2% (0)
28 XHEL

BHH ) = 2% (M)

38258 |£EH A REra—E—-3 LK 1,820

3ANEEH 1,820

FERI0EEEE 100,794




